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{i) Two perpendicular rectangles
-- between surfaces 1 and 6

{ii} Two paraliel rectangles
- between surfaces 1 and 7

2

L3 7487
L & 757
L 1 787

(iii) Two parallel circular rings
~ between surfaces 2 and 3

4

B>

Fig = [Ag/A(1/2A6) (A1+243.4 F(1:24344)(546)
+ AgFe(2+a) - AsFsi14a) - (11246} Ay Fiarassis)

~ AgFsa - AsFs3))

Fiz = (1/44)[A1+2:3:4)F(142:3 sa)(5+6+7 +p+ A1 Frs+ AoFag
+ AaFar + AsFag] - {”4141}[&1+2}F{1+2:{5+81+A{1+4]H1 +4)(548)

+ Az q)F(aay7+8) + Ai243)Fi2+3)(6+47)]

Fas = (Ai1+2y/ A2)[Fl1+2)13+4) - F(1 +2)4]
+ (A Az) [ Fijasa - Fia)

{iv) A circular tube and a disc between surface 3,
the inner wall of the tube of radius x; and surface 1,
the upper surface of the disc of radius x,.

4 —_—_—

=

F1-73 = Fiz.Fla
Fa1=(x42/%,2)(F12 + F1a4)



